Parts List «..x:

B 1 M $h 4
L aaan—0——____/_L Ll
Model: AD2000-MP IN—=YY ZFI—F 525014

Q = LLEETR

MARLIYAMA MFG. CO.,INC. 2020. 0.



HMETRDERIZDINT

1. WROITEXDRREE
WiES () - BmES - BB - WEZHRESL,

o a & 0N

INTEATIA [ E R R D EE R ESSRBZEL,
BealEnd THILMIESSR I ZIERATIZIL,
AEBRIFEBLIZEDIHYET,
AMRRIIBRDAEFELGKEETLIENHYFT,
Fig. DFRRIZTDNT

AZAMR=DIZ Fig. XXBRERTLTHYFET . COXXKFAFTAN—D
EEORBLESZRLET,

EPN

T>=>> (EE201/34)

2. 0529 — S e 3
L I 1 e~ A 7
4, TS BRRIA S /T et 9

5.1 /& o






AD2000-MP

1. K




RHEES HBRES B M A W (B fim
1-1 364886 | AD2000-MP 1
1-2 226546 | TUNIVY 1
1-3 226544 | H'4hyvhr 1
1-4 215532 | Kv44=%) 1
1-5 054691 | YhTH 9347 1 16794
1-6 089738 | 6 A%k ILb 1 | M5X15
1-7 215418 | NN LMY HTI H35T 1 | 8794
1-8 092561 | 6 K9k Lk (+)SW 6 | M5X25
1-9 225835 | ¥ ¥—A4347T 1 [10 ~ 15794
1-10 | 225897 | 6 h9K b (+)W 1 | M6X8
1-11 | 092550 | 6 A%k Wb (+)SW 1 | M5X25-7T
1-12 | 225891 | NEJFA A 1
1-13 | 225892 | NE/K'A B 1
1-14 | 225893 | #7/N#Y H 2Y%FYb 1 | M8Lt4)
1-15 | 225896 | 6 HYi Wb (+) 1 | M5X10
1-16 | 220549 | F1947—) 1
1-17 | 242256 | #—L7L—F 1 | AD2000-MP
1-18 | 235791 | AUNIL A b4 1
1-19 | 235792 | AUNIL B b4 1
1-20 | 237531 | MJA'LIN =934T (16) 1 |21 794
1-21 | 560182 | 3A°)L 1 |39 -74
1-22 | 235748 | ARYMLIY 1 |810L1/0 755
1-23 | 220533 | h3hrN N 9347 1
1-24 | 222821 | ¥ AIvhN—H34T 1 257494
1-25 | 092561 | 6 h4# L+ (+)SW 2 | M5X25
1-26 | 227509 | F97°Y—9 1




¢
-

36
62/62A

X ~202052H
2020478 ~

58

47A —

202053 ~6H

—49A—

— 48A

BMMBESLINHY




RHEES HBRES B M A W (B fim =
- 875430 | IV EE201/34
- 289667 | VU4
- 289643 | h'AHYh TO.5
- 267290 | %Y1 M5X20
- 272744 | 1914
- 267049 | H'AHYh
- 269826 | TAIRY (H)WSW M5X25WSW
- 246656 | ¥777t07Y 9 ~ 11744
- 246663 | h' AUk
-10 | 246662 | TANL3AV7)—F
—-11 | 246731 | 6 H97FYFHK LF WSW M4X10
-12 | 266402 | 6 h97+Y%HK Wb WSW M5X55
-13 | 247073 | ' AhYb
-14 | 276868 | 7U% —hn'—

-15 | 269827 | A1y (+)WSW M5X16

-16 | 247156 | by77hin'—23v77)—F

-17 | 563151 | 2491 M6X15

-18 | 261878 | Tt

-19 | 280144 | 4YE'VRY (+) 4X16

-20 | 273674 | 450945 -2

-21 | 280488 | A 7YY PPL 6001

-22 | 261492 | 4= ISCD12287
3 | 261386 | #4LY—I ISCD12227

-24 | 055185 | C h4hAT H28

- 261612 | 6 h97 Y%K Wb WSW M5X30

289671 | E'AbY

261158 | E'ARVYVY
261036 | E'AbUE"Y
288520 | Z—FMILATYLY"
261576 | =497

~

oo

©

8E-KV8X11X11.8

o

I\DNI\DI\DNNI\DI\DNNI\DI\‘)I\DNI\DNI\DNI\DNI\DNI\IDNNNNNNNNNNMNNNNNNNNNNN

|

=31 | 274146 | H7099% 7030771+

-32 | 269168 | #79F7tU7) 33,34 7914
-33 | 269169 | ¥59F1

-34 | 269173 | A7y

-35 | 269647 | 43VFHK Ik

-36 | 269175 | 7Yv¥ 6.1X15X1.6
-37 | 261777 | 9I-7"7V9%

-38 | 286527 | 77VhN-TtV7C 39 ~ 41 794
-39 | 280366 | 77 hnN— YN L—
-40 | 280314 | 97YFN 743077}

-41 | 014210 | C '4k47 S10

-42 | 269831 | TA IRy (+)WSW M5X20WSW
-43 | 269991 | ¥vy3y

-44 | 280477 | YY1 M5X28WSW
-45 | 269423 | YhHTYE M5




¢
-

36
62/62A

X ~202052H
2020478 ~

58

47A —

202053 ~6H

—49A—

— 48A

BMMBESLINHY




HaES

T R

B
e

e &

282403
274927
283397
283165

AYE V2 (+)

IR TEVTY

A-4

49299393V TEY7Y

M4X14

48 ~ 5579 ~ 20205 2 A 2020 F 7 A~

~ 202042 A 2020 7 A~

50 ~ 55 7L ~ 2020 £ 2 f 2020 £ 7 A~

1

1

1

1
283267 | 1Ml 1 | ~2020% 2 H 2020 7 A~
283268 | a—-+FT7tY7Y 1 | 52538794 ~20204 2 8 202057 A~
283178 | 7737 %¥97 1 | ~2020%2 8 202057 B~
272805 | 7949 1 |~2020%2H8 2020057 A~
283271 | ¥¥v7° 1 |~2020%& 28 2020%& 7 B~
283272 | ¥1-7 1 | ~20204 28 202057 A~
274191 | 3~ 1 |3I9FYFa94
261076 | nUrYE— 1
261417 | 474 h 29¥FYb 1 |M8
280381 | AA—14 2
261256 | 6 h97 Y%K Lk WSW 2 | M4X25
286739 | AN=97'34 1 | CcJeY
283648 | AMYT AAYFIAVT)—b 1 |~2020%& 28 2020%& 7 B~
269705 | 7A° ) I EYPVREVVEY]
277796 | ¥ R 77 1 | 48A~55A79L 20203 H~6H
277797 | 0—4% 1 [2020£ 3 B~ 6 B
277798 | 419°=953AV34WT 107 1 | 51A~55A79L4 20203 B~6 A
279577 | -FT7tY7Y 1 | 52A53A 794 202043 B~ 6 A
278755 | 799 %¥vv7 1 |2020 3 A~ 6 H
278756 | 797 1 20203 B~ 6 A8
278752 | ¥¥v7° 1 [2020%£ 3 8~6H
278754 | ¥1—-7° 1 [2020%£ 3 B~6 A8
269983 | AMYT A4YFAVT -} 1 |2020 3 A~ 6 H







RE&ES|HmES 11T T R &% i®E %

2~10794
3~979h

A
288684 | JIMNRG—4TtV7")
288685 | A4—47t7")
288967 | -l
288968 | ANATINART YUY
262922 | ¥YbAYY1

288969 | B—7'7tV7"Y 7~979h
288970 | A4—40-7
261725 | 29—4/)7"

283511 | A=7°AMUN
288971 | A9—47—)7+Y7"

M4X16WSW
M4X20

0
1 269833 | FAIRY (H)WSW
2 | 280489 | ¥AI%Y (+)WSW
3 | 247103 | Ya{L3A' I

|
—_ = == O 00NN =
e ) I N e S O O S N B O e e e ﬂ_‘

ooooooooooooolooooooooowoo




w N

-MP I >>>
4. Fv T4, RS>0

AD2000

\.\ ’, ,, 3
O

\____i_______________l

36

g_

-0 -



RHEES HRES 11T T R

B
e

s

289885 | ¥¥7 L4777
274472 | KV7K T4
262991 | N=YK'TF(
262992 | K'VU7hin'—
261874 | 7°34%

2~ 15794

283905 | 4'4¥77L
262993 | A Ak
262994 | 4 4¥77L
282576 | B ATk
285030 | ¥ IYh

261871 | O YU’
261876 | vy
261658 | A{A")L
264682 | A1
262996 | A1

261864 | H"A/rh
264691 | O YUY’
277926 | 9)—-F7t€07"Y
266433 | 1—A7tV7"
264695 | ILAVH

19 ~ 21794

© ool kWD =IO

o

277554 | 9)—Thi -
269834 | TAIRY (+)WSW
273515 | 40974577
273516 | 71—I4YY
275306 | 309%%Y7T7HU7)

M5X60WSW
24 ~ 34 791

1
w N =

=N

26 791

274875 | N"YEY

261696 | 7)—%9347
265752 | #2YAUNATTEUT)
264031 | N1 9347

261115 | 4°'AAYb

| |
oo

~

29 ~ 34 791
30 ~ 32794

oo

©

o

261690 | #3INA7
263038 | A—n"70-1N'17°
277887 | 2437177
261117 | 9)97°

269828 | FAIRY (HW

160L

I
W N =

=N

M5X16W

281208 | FA %Y (W
281007 | 3~ 1L

M5X16W A%
FI-Ih4_~M

W WIW W WWWWNDNDNDNDPNDNDNPNDDNDN == A Al = =] = O 00 OO~ =

e e T ) T S S S N B N A I e e e e T T ) T O B O S S S N I s e I S S ] e e e e e e e S S S Y

~N oo

_‘]0_




AD2000-MP
5.1 B @

_]]_



NRmES 11T T R & ]

221460 | K31 A%

220534 | hYynhin—
210418 | AVERWIRANT
219431 | 6 h9KHANT
022865 | JAY FANT

ZAUNN 3
8X10

242257 | MJ7Uh4EY%3 AD2000-MP #7

_‘]2_




AKX
EsEHERRO
Ly FE—- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t+. H.#1B %k <)

Printed in japan 2020-06.J

EHENEETY



